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> rectifier

> clipper

» clamper

» Zener diode regulator
> NA7 rectifier

» Half-wave rectifier
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> AT rectifier (D)
» Full wave rectifier (bridge)

» Full wave rectifier + smoothing capacitor
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> A3 clamper (1laswsgdu DC)
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> 2945 clamper (79)
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> 933 Zener diode regulator (MNAAWIANBITUDI)
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> 193509dU (biasing circuit) 20NN UETaLA05 (npn)

» Fixed bias circuit

Kirchhoff law

Vee — IR — Ve =0, Vec — IcRc — Vee =0 (D
/C = ﬂ/B, VCE = VCC — /CRC (DC load /ine) (2)



» Fixed bias DC load line
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B8 =50, Vce = +10V, Rc = 1.2kQQ, Rg = 220kS2, Vge = 0.7V
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— Ipg = 220Kk =42.3pA, Icg = 50(42.3,LLA) =2.11mA (3)

Veeg = 10 — (2.11mA)(1.2kQ) = 7.46V (4)



> Fixed bias + emitter feedback circuit

Veec = IcRc + Vee + IERe (5)
Vece = IR + Ve + IERe  (6)
lc ~1g=plg (7)

Vee — V,
o leg = oo BE (8

B =100, Vcc =20V, Rc = 1.8k, Re = 2009, Rg = 270k<
— lc, = 6.66mA, Vg, = 6.68V
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